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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forEQ4AW_W2
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BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE

06:15 90 40.0 0.07 B {Ri&@06:15 Fz (KREAEESE)
07:15 90 40.0 0.07 RS {Ri&e07:15 Fzh (REAERSE)
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B Y4 K REC 1800. 0

47.0), FIREKRFBERE




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

EQ4AW_W2, Day=19 (2025-06-11)

40 F=——== —F———F————Ff——Ff———f————f———Ff ]
V1, VE2ERV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 576
L 600
30 1480 23 5
20 - 490 - 400 —
55 04 E
>
10 - 00 L 200 £
I Warning: lcol [FVI',| "FVO’'] missing 0
01 c 8o
_— MW 4 .
—— maxM —GOI
C
S
---------------------------- - 40 &
E
- 20 =
[T
0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
optEC0=1886. 0, setECB=1800 —¢  ECB*10%
1900 - ° o ECC
{ ()
( ] ® [ }
1800 4r———mm e % R e — N & ]
1700 -
6.5 4 optPHO=6.5 setPHB=6.2 —¢ PHB*10%
--------------------------------------- -0 -—-0-—-0 -——————@———-—— b ]
6.0 - ¢ 3¢ 3¢ 3¢ >
5.5 -
: 4
ByIni:t @D22 01:35: ET=452 Fg=450.0 Ro=19.0 —
100 1 - 600 £
1 =
! N
: - 400 £
i m
| - 200 €
>
| o
015 1 2 3 4 5 6 7 8 9 10 1111218141167 8119 ]2/ 2]2[223]°
BB | BB | 8| B|B| 8| B8 5 5 5 5 5 5 5 5 i 5 5 REEREERS =
100 4 i 600g
ByEt @D19 19:34: ET=413 Fg=423. 0 Ro=nan : =
e 1 © & o _4002
50 - : ]
I - 200 ‘£
1 o
o ——0——© I
0 DD S S I S — 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 |12 ] 13 ] 14 15 ] 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
100 BB | B | KB | B| BB & | B 5 5 5 5 5 5 5 5 REEARE A EREERERS 600 2
i | 2
ByWoFlk/ @D22 01:35: ET=304 Fg=360.0 Ro=33.0 %’_
~
1 | —
[ o—o—o 400 £
501 l 5
i - 200 ‘£
| o
o +-o—0——o—© L
1.0 sl o o o o e ———— — 0
0 1 2 3 4 5 6 7 8 9 [ 10 11 [ 12 ] 13 | 14 [ 15 [ 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
0ol FE | W | M | # | W& | W | & | M | RE | A | ME | R | W | M | B | M | BB | B | M B2 %% |85 Bn%
0.6 -
0.4 -
0.2 -
0.0
—_— 4
[ ] | _obs
1000 - —@— PPFD obs
500 -
e v P
T T T T T




15.

14.

14.

13.

13.

14.

14.

14.

14.

14.

14.

14.

13.

13.

13.

13.

13.

13.

M_W

T
600

860
m=720,n FV0=0

T
1000

—— MW

T
720

7é5 750
m=960,n FV0=0

1T —e— mw

960

965 970

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

m=475, FV0=0

—o—

M_W

T
475

4é0 4é5
m=775,n FV0=0

—o—

M_W

775

7é0 7é5
m=1035n FV0=0

.20 A

.15 1

.10 4

.05 4

.00 -

.95 4

.90 -

——

M_W

1036

1038
m

1040

14.

14.

14.

14.

14.

14.

14.

14.

13.

13.

m=615, FV0=0

—o—

M_W

T
615

6&0 Gé5
m=830,n FV0=0

—o—

M_W

T
830

T
835 840

14.

14.

14.

14.

13.

13.

13.

13.

13.

13.

13.

m=670, FV0=0

—— MW

T
670

6%5 650
m=895,n FV0=0

1T —e— mw

T
895

T
900 905




hour

11:10

12:40

13:45

15:10

100

80

- 60

- 40

20



EQ4AW

RyiE) | EBIAT (FD) | ERE (EH/4) | EBREE (B/R) [XKS EFRF

06:10 90 40.0 0.07 BS| 1Ri%e06:10 Fz (REMEESE)
07:10 90 40.0 0.07 RS {Ri%@07:10 Fzf (KREEER)
09:10 90 40.0 0.07 RS {Ri&@09:10 Fzh (KREAERSE)
11:10 90 40.0 0.07 el Rige11:10 Fzy (REEHE)
12:40 90 40.0 0.07 B {BRige12:40 Fz) (RPHERKSE)
13:45 90 40.0 0.07 | Ri%@13:45 Fzi (REERESE)
15:10 90 40.0 0.07 BE| Rige15:10 Fz (REAEHE)
23t| 630.0 (70%) 280.0 3ZHKEC: 2160, PH: 6.6

TERRHER 2 STEIEATF (64.0 :

EIRGEBBTHC RIZIR BN (90 vs 77.0))

ZRIASERRIERE47. 0 ml.
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47.0), FIREKRFBERE
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